FA
15 6 23
FA ¢ )
(p.177)
4.4 g& | Tablefilling algorithm
DFA DFA
- DFAM =(Q,%,6,q,.F) ) (distinguishable)
DFA p,.qeQ,xeX* ‘_
. p=q /
t (equivalent)
X o(p,x) o(a,%)
— (distinguishable) p.176
15 6 23 3 15 6 23




15 6 23 5
2
. X
- (p, 9 a r=5 (p,a s=3 (q,d)
- (9 X (P X
* (9 x (p.g) &
) X (p.a) (.9
(rg X (p,a) X
15 6 23 7




2 (a b)

(a b)
- (& 0),% (b, 0)) =(b, g
-0 (&1),5 (b1)=(f,c)

2 (a d)

(a d)
- (& 0),9 (d,0)=(b,c) —
-0 (&1),5 (d, 1) =(f, 9)

0

10

2 (a €
(a €)
— (3 (a,0),3 (g 0) =(b, h)
~(b,h) @e

- (0 (& 1),0 (e 1) =(f.f)
-1

11

(af)
- (&0),9 (f,0) =(b,c)
-0 (& 1),% (f, 1) =(f, 9

0

12




e (@9
(b, g)

- (f, e

2

(& 9)

(b, h)

(ae

(b, 9)

(& 9)

(. e

(8 9)

(a 9)

- (0 (2 0),0 (9,0)) =(b, 9)
(a9
-0 (a1),0 (9, 1) =(f, e

13

2 (a h)

(a h)
- (0 (& 0),9 (h,0)) =(b, g)
-0 (@&1),5 (h1)=(f,c ~

0

14

o+ (b0
—(6 (b,0),6 (d, 0)) =(g, ©) -
—(6 (b, 1),0 (d. 1) =(c,9) -

2

15

2  (be

(b, €)
—(6 (b,0),5 (& 0)) =(g, h)
~ (5 (b,1),8 (1) =(c,f)

0

16




2

(b, )
—(6 (b,0),06 (f,0) =(g, ¢)
—(6 (b, 1),0 (f, 1)) =(c, 9) -

(b, )

0

17

2 (b, 9)

(b, )
—(6 (b, 0),5 (9, 0) =(g, 9)
—(6 (b, 1),0 (9. 1) =(c.€) -

0

18

19

x
X [ X |a
X |=

a
b
d

nom o
-+ > @

Ak

X | X | XX

XX |X|X|X

15 6 23 20




15 6 23

(6/30)

CFL)

21

2003 7 14

_& -NFA_DFA_

* NFA
* DFA

100 20

15 6 23

DFA
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